5. Improve the underlined phrase for clarity and
correctness by selecting the right phrase from
those given below to replace it.

If you lose your job, you will have toblame’

yourself only.

(1)  will have only to blame yourself.

(2  will have only blame on yourself,
3~ willblame only yourself for it.

(4) will haveonly yourself to blame.

D-2

PART -1
(1) GENERAL ENGLISH

1. Ipprove the underlined phrase for clarity and | 6. Look at the following possible meanings ofthe
correctness by selecting the right phrase from word, RIFT. Choose the correct meaning.
those given below to replace it. (1) breach (2)  breath
Joe and May are in love. But they haven't yet \% break () bend
formally declared their engagement.
(1)  formally indicated 7. Complete the sentence given below by using the

a2y formally announced correct form of the verb, Choose the correct
(3  openlydeclared option from those that follow. I did not buy
(4)  openlystated anything at all becauseI of money
during my trip.

2. One part of the following sentence may have &r” runout 2 haverunout
anerror. Spot the erroneous part. (3) ranout (4 hadrunout
The train began to slow down/

i) 8 Outof the given alternatives, choose the one
beyond Dadar/ which best explains the underlined word.
—a Their bodies had suffered contortion as a

. result of malnutrition.
and when 1 _.mwwwmm $o.Andheri./ (1)  the state of body being charred and
) ¢ . . blackened beyond recognition.
it had started raining heavily. (2)  the state of body being twisted out of
— @ natural shape.
(3> dismemberment of bodily parts in slow
3. Complete the sentence given below by using the mcnommmucﬂ. p .
correct form of the verb. Choose the correct @ a series of m.nnmE.._meou and physical
option from those that follow. debility affecting vision.
Reena her course in dentistry by | 9. Choose the meaning that best expresses the
June 2019. ) idiom, fly in the face of something.
() couldcomplete 2y~ will complete _m physicatly intrude and be pesky when
(3 istocomplete (9  hascompleted someone is very busy.
(2) float aboutin public places, especially the
4. Choose the word most nearly OPPOSITE in waste, that mm_oEn _un_.w &munmmﬂn— of.
meaxIng to: (3)  tooppose, or be the opposite of, something
N \ Lassitude " ) that is usual or expected.
¥ a% M_.ﬂmn”u MMW nu:w_.ﬂh_cw._mum (4)  todiminish and become rather too small
N ¥ affecti to be noticed on the face.
10. Look at the possible meanings of the word,

PINNACLE given below. Choose the correct

meaning.

(1) something of a very low standard and
deficient in quality.

(2)  the mostimportant or successful part of
something.

(3  the mostcoveted and pricey part of a deal.

% something of a very high standard and
excellent quality.

18A1
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PART-1II / w11
(1) Gen. Kriowledge and Current Affairs / wmra g @ wam i T

Which of the following countries are separated
by ‘Durand line’ ?

(1)  India and China

~2)  India and Afghanistan
(8)  India and Pakistan
(4)  China and Russia

The Aryan connection with Afghanistan is
indicated by the mention of following riversin
the Rigveda :

(1)  Asikniand Parushni
_2» Kubhaand Kramu

(3)  Parushniand Sutudri

(4)  Vipasand Vitasta

[ 28. | Where among the following countries was the
\ 4th International Ayurveda Congress recently

\ \
AN
FAN
‘ /kv\ Mom

Which of the following is not an additional index
introduced in Human Development Index,
(HDI), 2010?

(1)  Multidimensional Poverty Index (MPI)
(2)  Environmental Safety Index (ESI)

25.

(3)
.\ Development Index (IHDI)

D-4

held ?
(I USA. (2) India
(3) Australia (4)_~Netherlands

Which among the following films received the
best feature film award in the 65 National
Films award announced in April 2018 ?

L\s\. Village Rockstars
(2) BhayanaKam
(3) Nagar Kirtan

Inequality-adjusted Human

()  Gender Inequality Index (GI])

21.

154
15

25.

Freiforfiaa 1 A w9-2 30 e @' F I TR
frrsm €2

() wmE R A

@ WRA 3 T

@) WA i gfeEE

() Smainww

g 1§ freifafes afdi & od ¥ ol F
STRITEA & Gra 1 Henal Toerr & :

() gt od vl

@ FTHY

@ e e

) Ty ud faawm

Frefafea & 4 frg wum e @ § =l efmidm
SR FHIIH T G ?

()  FIHTE A @ 9w

(3)  sreefern W s

e 2018, # wiftd 659 T fhew TR |
Frefafad o & frm fvew =1 wedes s firea
F1 R foen ?

1 fEEedEEr

(2) WA

(3 TRERA

(4 A

2010 H W W faw@ qEHF (HDD A

fFrefertaa & & - sifaftr guws T §?

(1) AT T eI (MP])

(2  Talerii g gei (EST)

@) EAEa-gEEifE T faee e
(IHDD)

(1) AT SAEAET GEHi (GID)

18A1

286. Which among the following sta;,
regarding the Right to Property F_m g
correct?

.\rx\‘ Right to Property is a constitye

statutoryrightinIndia. 0 20

(2  Aperson cannot be deprived of pry,
save by authority of law. ARy

() The expression Property in Ag; 1
300 A of the Constitution of _n&.hnm“
confined to land alone.

(49 The Right to Property as a constitutional
right was inserted in the Constitution of
India through the Constitutign (Forty
Fourth Amendment) Act, 1978,

27.  According to International Energy Agency data
of CO, emissions from fuel combustion 2017,
which of the following countries has higher per

ndiais not
—

capita CO, emission ?
(1) Qatar (2) India
{3 USA (4  SriLanka

28. Whatis the minimum age of eligibility for the

post of Vice President of India ?
(1) 50years (2)  65years
(3 3b5years (4)  40years

29. Which of the following is the main objective of
the recently unveiled robot submarine by the
Australian researchers ?

(1) tofind out and destroy the rare species
of fishes in the Great Barrier Reef

c@\ to protect the Great Barrier Reef from

the invaders

(3  to hunt and kill the blue whales of the
Great Barrier Reef

(4)  to hunt and kill the predatory starfish
devastating the Great Barrier Reef

30. ich of the following is the correct match of
he recently published books and
authors ?

(8) OrdinaryPegple () Tim Winton

() TheShepherd's (i) Julian

Hut Barnes
(0 TheOnlyStory (i) LibbyPage
(@) TheLido (iv) DianaEvans

Code:

@ G @ @
m G @ v 0
@ O @ @
| U

B @) G @0

18A1

26.

27.

29.

30.

e 5 e 1 s a6 AR 3 Freefan 4

FRAMFEATATE &2 i

() T s A SR
i 7

@ et =afer 1 A W U Hatd o S
% qfera & T < == |

@) WEE HEEE & ST 300 A H =
e wv Fae yfi 9w @ =i €

() T ¥ afER w gaat afEn &

=g § wrEE @auE § Seog wiaum
(aTEEaET) A sfufEm, 1978 FEE

o
st GHHF I FEANC0, T F
@it F 9T 2017 F el F AR Frfafad §
% fopm 20 W et i =afE@ Co, S e g ?
O #FR @ v
(@ ¥ s () b
wrE ¥ IO 98 F dram F fau fuifa
=[Aad ST W E
m 50 @ e5ad
@ 35 4 4o0°d
sifeferard Wi % g e | SgEife Ee
TTgE & WE 35w frefataa § @ @ d?
(1 e afEr i § gelv e yenfad = e
i 3¢ e FE

@ e Afe R ST 9w
@ e e {1 = g e S

R =
(@ e afer iF F I 9 wWaEt 'R

i 1 foeeR 1 3% AR BT
BTl € T et freiaiaa g 3t 37 aaeh
=1 Wl fHeR FE?
@ afEdmm @ 2 fofde
b RiIrme Gy SferarE
© FRatwteEd i) foetiw
@ fgfa= Gv) Teamia=
He:

@@ () @ @
W Gi) G @ 0
@ v @O G i)
@ O @ @) Gv)
@ v @) @ 6
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31.

32.

33.

34.

(2) Reasoning Ability / atfbs o

How many triangles, ars there in 418 given | 31. iﬁwiﬂmmggwm
figure 7
-~/ = !

\Mf \H M ._Ou.._ﬂ TW

K L
= N/ T ™
n 20 @c\u - - Bl
2 2 5 M @ 32 @ 34
82 Ufed SW i 5 Frdl, o T, T AR e

Rohit travels 5 km. North, then he turns :mﬂ.
and travels 7 km. Then he turns right 82
travels 8 km. Then he turns right agai? and
travels 4 km. Finally, he turns left Pumnaqmr
Lkm. In which direction is Rohit now from hus
starting point ?

(1) East (2)  West

(3)  South-West (4)~"South-East

Select the correct alternative from »_uw given
ones that will complete the number sernes.
1,13, 33,61,97, _7

1) 118 2 133

3 141 @ 166

Select the one which is different from the other

three given alternatives.
Y

‘$ % AR

X/

33.

5 % 3f 7 o, e wren €1 7@ 9w < g
3R 8 fomd. 7% wew 21 firt =% < e @
¥ 4 e, o e &1 o ¥, T ard gea
31 . oo e 1 ra difed oot s
g frm i dr

o @ @ wfEm

3  IfEo-viEm @ <fam-gw
Frefafan § @ 30 v fower 31 afm frmd
J‘@m\% o2

W="118% 6 4 o 33

@ 141 4 166

- -
34. Tefofan § Sw o e R gfR S g w

I 1 fowed @ fim §

L]y %%

%

&

D-6

W A @ B m A B
@ C 4@ D @ C Vmw\u
SPACE FOR ROUGH WORK / 7% &4 & o1y <iig 18A1
|
@Dy A .
6\, T\ , .;;
D,\ux 5Ky

——— - 1
35.  Whichof the following is related to 'Mep ) the feferfa § @ 0 ' AE " 8 56 T it &
same way as ‘Ornithology’ | 35. s P hrglt 2 ot 2
Birds'? —— " related o, forey e St e & AT €7
\,\.\.l.ln !

()  Anthology \@Aathr s o @ g
(3 Archaeology Phycslogy 3 ()
36, Four groups of letters are given below, out of g aad s AR AT E, o R I I
which three are alike in a certain way w1+ | 39" . - SRP
one is different. Choose the odd erfz, i wﬂﬂmﬂﬂ.ﬂ.ﬂ nt Aﬂﬁ.mw..wﬂ.w_ i
TES m—m_u :
@ JLOSX i Ecivp X mm.ﬂw;
(n > A
Ay S0 W ) .wm,ﬁw 4 GILPU
il

87. Apiece of paper is folded and punched as shown
below in the nn.nm:o_.. figures. From the given | 37.
answer figures, indicate how it will appear when

unfolded.

Question Figures

Tt e F1 e v T F e s 8

1 T 1 st e A

fo3i 5 4 fa won = o= T a2

......................................

%y oe LA o o © o° ° 0%° o
° 6 . o o
Q
o oo® o0 o o ofl|[% o oo o
) @ 4 (1) (2) 3) @
D-7

18A1

SPACE FOR ROUGH WORK /1% &4 & faq =

| 9 A
b : _ <~ mﬂumzm
et $ | l |
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Nareshls
jasitting

o Sonal

)
38. A group of friends is sitting in an arra
each one at one corner of a Hexagon:
/sitting opposite to Tushant; _.._..—.—._E._m_m
——~" nexttoSonal; Kavita is sitting opposite o
/ but not next to Naresh. Madhur hasa pers i
sitting between Tushant and himself. Who
sitting between Privanka and Naresh?

.I' §
B
|

(1) Tushant ) Sonal
()  Kavita () Madhur
|
/ ' !
[ 89. |Ifina certain code language, ‘TRIANGLE' 15

\ written ‘FKHMBHSS', then how i8
‘COMPUTER' written in the same code
~oF language ?

Q.w\\\u
¥ () REOCTUPM (2 DNNOVSFS
\uw\muc._.o%m () SDUTBPLQ
If *x’ denotes ‘'addition’, '+’ denotes

40.
/ subtraction’, ‘' denotes ‘multiplication’ and
f ‘+' denotes ‘division’, then find the value of the
expression given below.

/. 48+T—-3x28+4+4=17

40.

39.

,\E\ SDUTQLPB @

38. et reen # fordl w1 O W e @ - W

fors forelt v & ww a0 W e &1 g
& 3 331 & fira A ¥ dt T A9 Y

Hiam W F W A9 §, W T W F A
iy T 4 &1 R s T 3 o O =R
F 1 g 7 T ¥ dra FA dAES 2

%\_%ﬂ

() gwa

/@ e @ TR

ft 2 v 9, 'TRIANGLE #1 FKHMBHSS),
foran a1 8, i v g2 W § ‘COMPUTER’ #1
0y e T £2

(1) REOCTUPM (2 DNNOVSFS

SDUTBPLQ

Hﬂ .lXI.-fImw.ﬁﬂ...ﬂW—. ..“I__ .ﬂﬂ.&. o ..mq_.—.ﬁ.u
a9 4y’ ) giEa w8, @ Prefafea
T T 7 95 |

- TR

48+7-3x28+4="7

m 12 @ ¥ (e\ 12 @ ¥
@3 a7 (9 48 @ 37 (4 48
D-8 SPACE FOR ROUGH WORK /1% &4 % forg srmig 18A1

Fiahar!
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PART. II / M- II
(3) Compute, Literacy / @PgST Farr

41, Which of the following optiong

correct pairing ? Tepregent
va MS Word 9 Wocr sﬂ.ﬂ.bn
()  MSExcel (ii) Um__cmmﬂw
lecture

(¢ MSPowerPoint (i) >Bo§num
Code:

(a (b Amvl
m @ @ ()

2 (i).
3 @ @O @@
(@ @ @ @

42, OCR is the acronym for
(1) Operating Character Reader
(2)  Operating Code Reader
(3)  Optical Code Reader
.¥v Optical Character Reader
43. MICR standsfor :
(1) MagneticInk Cases Reader
(2 MagneticInk Code Reader
<@~ Magnetic Ink Character Reader
(4) Magnetic Integrated Character Reader

44. Fibre optic cable is used for :
P\E\- transmitting data at high speed.
(2) transmitting electrons at high speed.
(3 transmitting electric signals at high
speed.
(4) transmitting magnetic waves at high
speed.

45. Amazon, Flipkart and Alibaba are examples
of :

() Product Review Websites
(2)  Social Networking Websites
(3) Banking Websites

%) E-Commerce Websites

18A1

i et § & = fawe v 7 # Frefm
FaE ?
(@ AT @ T e
) —TECETEE i) R
© TEEVEE (@) wE
7z

42.

43.

44.

45.

‘@@ b (@
o O @ G
@ O @ @
@ @ @O G
@ G 6 6@

Sifsm fram sk w T E?
) T FEE e
@ sraEnEE =

@ SireFa w8 TSt
) AireFd FE AR

‘oI w Al €

() i T

(@ s s et

@ T i RER I
() Brfew $Ees FEls

I3 AT FAd T ITEm fhE o g g ?
() I T W OERHE

@@ T WA & e

@ F= i w seleE e F dE g
() I A T 0 & iy

a7, foreTETe aon Syeramn e e § ?
(1) IR GEE TR

@ HE Tt Fannd

@ dfEm e

(9 3-=iad qamne
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47.

48.

49.

50.

D-

-
6.

& light penis a(n):
(1)  Optical output device

r
() Opticalinputdevice L~

(3)  Electronic input device
@ Electronic output device

The output quality of a printer1s evaluated

terms of i

(1) Dotperinch
(2)  Dots printed per unit time
(3 Dotpersg.inch

.ﬁv\ All of the above

A Gateway is used to connect computers
of :

() twoormore LAN's

(2) twoormore WAN's

e

(4  twoor more cable segments

two or more different connection oriented
protocols

Which of the following is not antiviruses'

software ?

(1) Quick Heal (2 F-Prot
_(3y" Python (4)  McAfee

The phrase “burn the CD" means
(1)  Destroy the CD
.\ou.“\ Write new dataon CD
(3)  Copy data from CD and destroy it
(4)  Read datafrom CD

10

46.

47.

48.

49,

50.

TRt

() e gy feamd
@  sifesa e feasw
@ iRl e e
) v seye feard

et i %1 streege U 1 fRE SR W
oA foa s 82

O ewfagm

@ o s | g e

@ Sewwwisw

@ s

T 1 S i A T Ha A & g
g g?

O [ AfyF T F
@ Q= afus TgUE F

@ T sfuw fE-fm F1REA e
TR &

@ 2 i A g F

Frafafaa § & F7 9 HaEw AR TE e ?
n fazda (2 TE-WE
(8 () YT (McAfee)

Yo g W A o el #

1 wERTEFT

©@ € e foa

(3 TSR TR A e T w6
@ Az i E

18A1

51.

52.

53.

54.

55.

56.

w>WH.:~ / o - 11

frofatea ¥ 4 fFEF A wEE SR R aE
rAfe 9 8 =iHa AT # e 8 S5 €2

o freEn T

@ I

@ o atdmEd

() Ul BrEEEEd

et WA FE A 4 fEfafEa i A sk
HeET w9 4 3Ya2 AT warE §2

o T

(2 WA

@)  FINTE Fan A

(4) TEFEE ®TH

g WER F1 Weawdl Wgpha § ZAan s
el €2

() wfta v

@ Az gt

@ foua fza weT=a

() Tifatafy Sfea TeaEa

FUAL. TR, 2009 F AN, I MAMF TR

e faner-Bm a9 e =iy ?

(1) 1:25 2 1:30

@ 1:35 @ 1:40

frefoafEd ¥ @ FA M FATA E?

() T i vl 5@ e wF stym dg Ay
I & 79 9% At Serd o i da da §)

@ fomwia @9 & T w@ Ay I
=feq i

@ A9 T ¥ I 05T F HfEE 'R
farvarerimg g e

@ Wi T wlem favEey ™ dy Bn
£

ol g Education / fo7emm
ich of the following do you assgcj
greatest extent with the »ﬁ_:nmm_w.”maﬁ””n 51.
Mentally Retarded (MR)? ¢
g Christine Ingram
(2 Nancy Bayley
(3) LetaHallingworth
4 Lathrine Coxmile
Which one of the following is an easiest | 92
available learning resource in existing Indiap
classroom system ?
4y  Textbook
@  Laboratory
@@ Information and Communication
technology
@)  Library clubs 53
Which type of curriculum is least formal in
nature ?
(1)  Spiral Curriculum
2  Teacher Centred Curriculum
(3)  Subject Centred Curriculum
\Ev. Activity Centred Curriculum
54.
As Per RTE Act, 2009, what should be the
teacher-pupil ratio at Upper Primary
Stage ?
1) 1:25 @ 1:30
£Br 1:35 @ 1:40 B
Which of the following statements is
true ?
(1) A particular test which is valid for one
purpose, is also valid for another.
42~ A test needs to be valid in order to be
reliable
(3  Atestmustbe reliable in order to be valid
4)  All classroom tests are reliable as well
as valid ! B

The software approach in teaching and learning
to shape behaviour is termed as:

(1) Programming

(2) Systemsapproach

" Instructional technology

(4)  Cybernetics

18A1

finemr wd s W ATRATR I9TY S SRR
TG & TE B &, weena &

(1) wmfE

(2) TATIH

(3) TR WenfiER
¢4) FEETEE
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|~
5. In non.directive counselling the | 87.  T-Frfem et & weretar : 62. ,sﬁ_.ﬁh_r ﬁm most comprehensive definitjon
counsellor : R (M wiEe Ty 1 s FEATI own:-...“ Ew ? .
(1) studies family background. = w«mﬂ:.«_ﬂ._ﬂwﬂ\mmw (1) arning from syllabus and textbaa
(2) gives wm&nmmwumq her/his temperament: ® 2w > L4 (20 Learning from co-curricular activi ._&
. Jlee's problems. @  frifim %t wensl = weh 8 o € @ ' clivities
3" takes lightly the counsellee’s P @) e wde i da 2w @ Learning from games. sports
() refers toclinical examination- u@.d co-curricular activities along with nrm.
58. If the strength of primary ummwﬂu_.un nrm_”” 58. Wrufie fawm &1 Fensdi [ & V O A A= H books
s . Jdren, 08 . . h
Lto Visone hundred apdsixty hidron B0 | o i of e & @ mAY. T, 2009 % (@ Learning from all decirable ang
of the academic staff? STTHN, ferert 7T e T2 1 STaraeal et ? e school
(1)  Four teachers () =wfmes
(2)  Four teachers plus one head teacher @ =SrfEt firers 63, If a distribution has a few very high scores,
(3)  Five teachers @ nﬂgﬁﬁmdﬂmﬂ. which of the following measures of central
ﬂ@\ﬂ?m teachers plus one head teacher @ " fa tendency would be more appropriate to
o3 . e
59. A question that reads as ‘which policy will result ) AL ol L E
in the greatest good for the greatestnumber ! | 59. T W forerd o < & o ' i ot Fife v L Mean
relates to which of the following categories in T ¥ waifuw wea &1 o T2 w7 @  Mode
Bloom's taxonomy of cognitive domain ? . . . i
(1)  Application @)  Analysis w_ AT 47 3 = & it # e aforsit 5 W Madian
(3  Synthesis @ _ Evaluation fored) T @ &2 (1)  Geometric Mean
60. In List-A the names of National and (1) IwEm @ fawerm .
International Acts, Declaration are given. In @  wwmm ) T 64.  Adjusting the support offered during a teaching
List-B the years regarding these Acts, . i session to fit the child's current level of
Declaration is given. Match List-A with | 60 T - A ¥, W v sfwfelra sfifam, sm performance is termed as :
-.....mn.—u and give your answer from the codes e g #1 He= - B H 57 affedi, srqonaii & (1)  guided participation
given under the Lists, o fad Mo ¥ iabﬂﬂlwﬂﬁwﬂﬂ > s
List-A List-B Fifer s e H e g A et | (2)  eeriation
(a) International year ofthe @ 1990 T Iy (3) adaptation
disabled people ﬂm.wi . et -B ¥ ecaflolding
(b) World Conference on i) 1992 (a) 39T E = iy ad M 1990 :
Education for all it F e o1 ii - : oy ; g
() People with Disability Act (i) 1995 ® e fe @ 1992 65. The main objective .wm_.:an organising
(PWD Act) iy _ HEIE co-curricular activities is to .
(d) RCIAct Gv) 1986 @ =g afufae (i) 1995 (1)  follow school time table and calendar
Code: @ R e, fufs (iv) 1986 ..mw\ provide opportunities to children for
(a) (b) (o @ He: personality development
ﬂle\_ AEV M a._..ﬂ.b @w) (a8 (b) (© (@@ (3)  impress upon parents and authorities
vy 0 i) G m @ 6O @ W @  develop teams of children for various
@ A.EV & ﬁ_mv 8 @ (v O W @ school functions
W 0 W W @ @ @ @
61.  The idea of educational technology does not @ O G @@ G ) .
i ; 66. The active s of interference in previous
imply : . process ol 1
(1)  Use of computers and mobiles fo g ﬂﬁﬁﬂ&%ﬂ.ﬂg&%ﬂ%g learning hy subsequent Jearning s generally
education 7 () Toen g Froged T HeEne w5 I known as:
20— Use of fossila for teaching @ Fomw 3 Stawdl 1 39@m () retroactive inhibition
(3%  Use of technology after industria] @  iefie swifa & = Fae e iy dehfre L& transference
revolution for education, only 1 T @)  repression
" [lae of ICT only )
CRey o (1) FaE A, F IwE () confounding
18A1 18A1

62,

65.

freAfatan § & TS F w9 =
ofemm FH G E?

() STETEE TE YR a AT

(@ S e TfafafEl @ siam

@ TEE WY GEEE, eded 6T
nfafafuEi @ wfam
(y o o e wE aie rvEl

¥ wfimm
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67.

68.

70.

7L

72

-.\E\\ Concurrent validity »

Jdren
In which of the following areas .mo ”mhwhﬂq to
tend to show the greatestrelative
normal children?

(1) Intellectual development

i&.\ Language developmept
(3) Academicprogress. :

(4)  Personaland social adjustmen’
'Which is not a characteristics of summative

assessment ?

(1)  More formal ]
(2 Gradesdonot carry much weight

(3 Inflexible )

(4)  Outcomeocriented

The best kind of organizational climate can be

found in the administration which is

characterized as - :

(1)  Autocratic @)  Democratic
@ Participatory (@ Laissez-fair

In a class of 50, a question was correctly
answered by 40 students. The difficulty value
of that questionis:

(1 80 2 0

(3 40 @ ™

To know the composition of a student’s
personality, a personal social adjustment

inventory is \sed. Which of the following
validity evidence is necessary for this

inventory ?

(2) Contentvalidity
(3)  Predictive validity
(4)  Construct validity

What is the most important thing in the
identification of appropriate resources for
running the school effectively 7

(1)  Utilizing previous experiences

(2) Involving experienced teachers about
managing these resources
(3) Need assessment

nﬁ\ Keeping record of all situatigng

67.

68.

69.

70.

71

72,

throughout the year tohelp extrapolatioy
<o
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@ R
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= 3 R W smrem =3 7 fedmar T
W) HAfyF shoafis e

@  UgH w1 AT Tow T @

@ fEdtadm

(@) fr=wd & agEm e

Tt e H gt e SR g
3, =% Feaa 8 ;

1) 2 e
()  HERHR 4) I

50 faenfifai =i war e o, e W =1 40 faenfedi
AT W ) sy wm s A g
1 8o @ 20

@ 40 @ 7

T Tl o e 1 T9 9 g O ST
A W gt S wEn s g | 5
et & fa § @ fifw v v =t e
B E7?

() OEE aud

@ faw-aeg A

(@ s gas dua

(@) ETE AT

et w9 A faemer wem ¥ fag vy ganE

T e ¥ WA Feqyl A A B &2

1 oo syl w1 sEm F

@ T HErE ¥ v | e foee #
wffea H

(3)  STETEHA SR .

@ T (R W e A v
v Tt SRR = ahEE (fFTE)
T |
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73.

74.

What is the use of lesson pla
n
teacher ? for a

(1) It helps teacher in minimisjn,
craming of teaching concepts, § husther

@ It helps as a teaching ajq ;
pilani i} g aid in the

(3 Ithelpsinlearning of children through
simple to complex concepts,

a\n&\? helps in systematically arganising
content, method and evaluating

strategies for learning, in advance

What is the main recommendation of National
Curriculum Framework (NCF 2005) with
regard to examination TO subjects of
Mathematics and English of Class X and XII
public examinations ? = e

% Open book examination be introduced

5.

16.

(2)  These should be examined at two levels;
Standard and higher level

(3) Examinations be postponed if students
are not ready

(4)  Passpercentage be fixed at 45 percent

‘Which of the following is not a characteristic

- ofindigenous teaching aids ?

_r™ Low cost

(2  Locally developed

(3  Developed through household material
only
(49  Made from commonly available material

A systematic collection of work, nwﬂ_ Eo_:mm.
i isions, student se
work ig_progress, revisions

analyses and reflections on what student has

earned, is better described asa:

7 Portfolio
(2)  Exhibition
(3  Scoring rubrics
4  Journal
18A1

73.

75.

76.
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@ R T g =Y EE T
THET

(3 s fammedi &R 76 § @ v @z
A

@ 45 wiave W 9w wfavm Fuifa fm s
=fe)

o foem dems w9t fefafea § ®
1w fafrem i € ?

(1) FHEm™

2 wFE e Q fawtaa i

@  FIa O g g e e

(1) T FY W ITE WD G 9 e

w1 ¥ U =afem gha § W yifd W FE,
wainm, famd 1 fawem @ famdt ¥ s
i & I8 T F1 e fm S,

WM ETATAIME
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77.  The effectiveness of multimedia apPTo%

teaching can be answered through
o () Experimentation

(2) Survey

(3) Casestudies

(4  Longitudinal studies

78.  According to National Curriculum EE«M.M”_—”

(NCF - 2005) at which stage the assess
must be purely qualitative ?

B

elementary stages

(2  ClassesIII to V of the elementary stages

(3)  Whole of Primary stage
(49)  Whole of Upper Primary stage

79.  Inanassessment procedure the student getsa
feedback on hig/her performance at the right
moment and not at the end of unit/topic 13

known as s
(1)  Assessmentof learning
2" Assessment for learning

(3  Informal Assessment
(4)  Assessmentas learning

80. What does principle of subsidiarity stipulate ?
(1) 'Discipline must follow from higher to
lower levels’
(2)  ‘There should be enough freedom to work
available at each level’
(3)  ‘Success or failure must be the joint
responsibility of personnel at each level’

’@\. ‘What can be done best at particular level
should be done at that level and not at
higher levels'

81. A good firststep in grading essaysisto:

(1)  ensure grading all responses to one
question before moving on to the next

% no:m_:.:nnmmmnnmmao_.manﬂmnmlmonn
rubric

(3)  arrange the answer scripts alphabetically

(4)  ask students to put their names on the
back of the paper

D-16

ECCE and Classes I and 11 of the

78.

79.

81

7.

fiem & aggww (weenffea) Iwmm o F
Mq_ﬂzmg (i) &1 I9C faar < wwa
() wiemrgnr

2 |dewEw
(3 wfed o anl (A w=ES) 5
() IRy apae (iiedfETe =EN) g

T i e (UH.H1.0%.-2005 ) & AR

59 smen w e Tf B9 8 TS B

e ?

(M g wufir foar (SE.0E) 79 IR
W F FRE L 11

2 YRIYE TR F LTV aF

@  wylmuE

@) Hyl 3= wrihE Wt

T aTehe fafy, fagd famed &1 o =yl

(WHE=g) T w9 o W 9fagfe & S g

33 (gfe)/fava & a4 7€ S8 Fed € -

(1) fem =5 e

(2)  SIferTy g TR

(3) I e

(4) =i ¥ wy i e

Treafi wew w1 fagid 0 SrETT w7

() T = I 9= T 9 el T
A B =R |

(@ U W SE FE w0 F wEE
e g ey |

(3) TR A AR ¥ W W S
1 W IO BT =6’ |

() ‘fore fafere Tt WS el oT= fmar =
Heel &, T W W s e, |
TH T W'

Mm.&&ﬁ%gdﬁsﬂﬁﬂaﬁ_ga
(1) T T Y Ve, 39 W F e e
#t ifn i s
(2) HFASUS A4 AET F TH U 91 TF it

(TafR) a1
(3 I fafeE = vt vy § safag s
@  foenfedl 1 TR WD e I e
ETSUl

18A1

83.

Classroom transactions can be best improyed
by :
(1) Strict implementation of rules and
: regulations
%5\ Instilling self monitoring among teachers
(3  Community monitoring
(4) Prescribing penalties for poor
examination results

" If a teacher wants to select top few students

that can be admitted to a special program. which
of the following tests w more appropriate
touse ?

(1) Norm-referenced test

fkwv\ Criterion-referenced test

(3) Formative test

I e | TTTeEmmem——
82. Textbook can be a strong source o:mw..:imn.. 82 qEeITEE STy = wfEE HE o wHd ¥
(1)  itiswritten in simple language, o= :
(2) ithasattractive layout and picturesg I FE wr i ferght =it §1
@f", ita content ia discussed with exampleg @ Zgrd ST AT T A T E
r\ in an interesting manner. - e = 2R TR ofed Mm_.ﬂ faug-
4 its w.ﬁ&mea_. tostudents is ensured weyy @ T 3 == 5T S B
in time. - g&.& m‘m .m.m_ﬂ..,_ S——— .ﬂmw
Ffifeam F1 = €

83. e T 1 waod T Y g SR ©

@ P F wen e g
() e § Ta- ST A W WA gR

@ T e e
() = e giend 3 fag g fion g

g4, U Forare/fufae o vid faanfeal =1 =@ S
e & fo% w fada weEn v fn
o wEA E wEm g e H § wE e
TE(T= S9gE Bm?

) EEE Eed wEm

@ fra ey wiam

@  Frotorers viym
()  HHAEIEG SEm
85. TR o fwas fau dr 8 ?
m FremiEg
@ frafEi

@) T, fenfeld wd Sfue deemend o
@ o, faafddi o sfmEe &g

86. EIHIEN 3 WA F1 TG H Helel Th Heidl a6

(4)  Standardized test
85. For whom aninstructional planis meant for ?
(1) Teachers
(2) Students
v@v Teachers, students and educational
planners
(4)  Teachers, students and parents
86. Whatisthe greatest disadvantage of restricting
the use of library to one period a week?
()  One useful period is snatched away from
study of important subjects.
(2) Seldom allows children to cultivate a
A\ taste for reading.
_ (3 One period is wasted inlocking at books
only.
(4) Tt could be better utilized for enjoying
nature or playing in the ground.
18A1

e w0 =1 w98 9 af 20 A ¥2

() e fdi T B O I e
B ferm < €1
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@ T W e { O w1 wen
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g e ITE & FHA 2 )
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§7. To what extent heredity effects | 87. smmwﬂaﬁﬂm%mﬂmﬂﬂ#ﬁﬂdﬂ& g2. Which of the following may not
development ? K ¥? characteristic of innovative mmsom:wm a| gy FEERAEE e =1 FeatEa § S FAH
(1) Heredity sets the upper iy ) e fEEE 1 F90 o Fuifa technology ? - o ez @ & T €2
development. =@ T () Recent (20 Novel (6)] FEmEA A.Nv GEl
Heredi . g] development . 3)  Original ,
L a"mﬂ&nw effects physicel & (@ s e WA T @  Original W, Lowcost @ s @ FHEm
(3  Heredity hardly effects development- e € 93. Informationand Communication technolo a afer G B FEI T, «Tﬁﬁﬁﬂa%
“ mmmenwmmmaﬁma&ouHmu:&ﬁnmS (3  STgaTRdl _wﬂ_ﬁﬂﬂzﬂﬂ_%@m%w_ mmmrcgmommmﬁinwmgmna;baaﬁwﬁﬂﬂ ﬁﬁr rqsRl W e TAEl AU Fizaa T8 &
environmental variations. (1) smErERa fawE T e B & afe Mw teachera mHmomem“ i -
- e W | . Ja @ =
. ) (2) itcreatesindisciplin . s
88. Some Universities demanded the graduate . pline among learners (@ g% AT & A FIEAEAAT
i L s . - A7 it demands a minim . ) oo 94
oo at the ead of . mostin 2l | g5, o freerarerd 3 < 78 W 8 et e o s work it ek e
mmwummgﬁmm.er.u.m is an example of : %g%ﬂ#%ﬂﬂ&gmwﬂﬂﬂﬂ (4 it is not favoured by educational 5 %Wﬂﬂ@.ﬂmdﬂuﬁdﬂdﬂﬂwﬂ]ﬂa
(1) Formative evaluation Rl ﬂ_,mu_m—dﬁm.—mw RN TE IR &: i atecs: mﬂ =i T €
2 Summative evaluation ) e (W) T R o b, £ . (@ TR G warEE %1 "R W T e
(3) Comprehensive evaluation @ gurHfaa (FHfe) .m,pﬂn._mﬂﬂ._ intelligence _nnmwm WuMMnMN.M amc% .mn-%.._aou of Ll
. T in — .
(4)  Continuous evaluation (@ i M%&..E.m : exof the | 94. SHIEUH, TS T w1 T =g AR g ¥
@ ﬂmﬂ.ﬂ.ﬂﬂuﬂ_ specific aptitudes FaqEs T € fFd st =t
89. The connectionist view point recognizes nm.v. .wﬂbmmn:.n competence M sfvrefed &
learning as: 89, WIS gheEI e H H JAE G intellectual curinetty @ T
(1) patterninginto unified whole o TEFd 3 wfreq Ffor T (4)  educational potentiality @ dfzwsgFaE
48 bandfarmation @ o fo s w 95. Mrs.Kan @ Wmewrh
@ habit frmation ) . E.mmwmo war ﬂm.omwno«wﬂwnurm-.mﬁcmmnﬁiﬂw 95. Sintd Sat 2793 faenfddi =1
@© reofcemant B A=A foafus s H et ﬂwwﬂmﬂpmm.m of extra recess time. Which S o gEa a1 HAfafEa
() THETHEIH ’ likely to mpghnm“ﬂummﬂowﬂozﬁw—ou isshe T %ﬁﬂﬁ?ﬂ%ﬂ% iy bl
o0 AussimsiSuioh ™ Extrinsic srucent’ m?ﬂq_&,émﬂﬁ R
. matic step by step, self instructi e L FATFA S ?
Croramme aimed 0 mEEmmnvMs_wn mw_“w%m_»”_m 9. TH O AW, = ﬁw\mﬁ_ﬂmﬂ Eaurn] (2) Intrinsic O == 87
stated behaviour is known as: s fifeea e @ sy giREa F 3, @  Lecusofcantral 2 AR
() Openand distance learning FEAE : 4)  Goal Orientation nmu forgar fiig (S ST F2ia
(2) Systemsapproach M g g A . 9. P @ w3 E?.n.mﬁﬂ_ﬂ o :
r% Programmed learning @ wASm . nhﬂw&ﬂﬁnﬁnﬂ.ﬁnrm.aobgﬂom education of 6. i )
(4)  Micro-teaching @  sfierfE-sfm means: il misval | SmpEESSE W.mmﬁ&.w o Bl S
@  g-Fee (D Curriculum of children with visual 1 ?%3. feremerai
" Oouau.:a:m and Comprehensive Evaluation . impairment in special schools. . ; # gfz aifuq @i Ft
(CCE) implies: o1 W T W A g 8, 2 bo&ﬁ.__“mm meant for providing @ ﬂ_mm%__..._ .
Cumulative assessment of all ] ; v =dw ' pmpy meﬁmimuomﬂm_&._mno&mpw:w Al 1 AfEr FpEERE
activitiss thraughout :ﬁwm”n earning . vt ﬁﬁ it atfirrm wfafafud F & impaired children. W FA ¥ nfafafiat) o
@  Semesterbased examination system - - - .“un_ﬁ‘_:wmmmm_wwﬁm to Mmqm”uﬂmﬂwﬂ of (@) T e S o ferar, gEifigEtEr
R s uch as Bra g 1 <
(3 Yearend annual examination system @ = s aie Ty LRI orientation and mobility. wE nfayitera & faemm 4 Hafiua nfafafu=t)
(4)  Trimester based examination system W e & Womett (4)  Side activities and experiences which are () wefafafial o sva < @ 8 e §
i wian womedt 1.9.9 while in themselves but not overtly g wreT=at & weaw w9 4 wfsfaa o
D-18 included in the curriculum. . T
18A1 18A1
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terialis

97.  The basic reason why meaningful m8
learnt rapidly is that :

(1)  thelearneris less likely to become bored.

(2 it is related to previous Jearning
(experiences) of the learner.

h&\.—.p has continuity and meaning inherent
initself.

(4)  itpermits more effective transfer.

98.  Social development is essentially a matter of:
(1)  conformity to the demands of! social order

(2) achievement of social security and
acceptance

(3)  the integration of one’s purposes with
-~ those of the social order

(4)  development of social skills

99. Inwhich of the following situations assessment
as learning is possible ?

rbv\ Collaborative learning
(2)  Group learning
3 Unit test

(4)  Group test

100. Which of the following is not a use of assistive
technology for disabled children ?

(1) Itcanimprove access to environment.

&w\ It can compensate the reduction in

experiences.

(3) It can increase the mobility of children
with disability.

(4 It can remove the handicapping
condition.

97.

98.

99.

100.

smﬂgﬂmﬂﬂwgﬂwﬂ_mmﬂ_ﬁw“

03] @%ﬁi%ﬁﬂn%dﬁaﬂn@%.
W._ . il

@ 7w s ¥ free s ()
R gaifira g &1

@ 3H w6 gaw d o Ffe an T

@ T g e T ST
g 1 :

Hrfees foer st s A €

() T W R Ei ST

@ |t g ud i F e

@ wmEfes w9 % wg e F R ¥
ﬂm..hmﬂa._mﬂn_.

(4) e P! & fon o

?ﬁ@@mﬂ@@ﬂn@gmﬁﬁﬂwuﬂh

A W £ 7

() wEEm s
@ W () st
@ T e

@ W (g e

Frefafad & @ $9 W AU GO g SeEE

drelifirert &1 wEm @ &2 .
(1) T TaiEr 9 g 99 WAt B
@ = TvEl # Fe  wfoghl w wed §
@) I T ¥ fed S Ht it wg
T E
“@ wﬂ?ﬁgﬂ%gﬁﬂﬂﬁﬂ%
|

18A1

PART -1V / ymr- IV
Admin and Finance / ggmaT ,ﬂm.._rﬂ.ﬂ.

101. Which of the following is not a permissible
way of filing of return of a person having income
chargeable to “Salaries” ?

[4)] Furnishing return in paper form to his
employer

@  Furnishing paperreturnto Income Tax
Office

3  Furnishing paper return to CPC of
Income Tax

LEJ Furnishing return electronically under

digital signature

102. In case of bids for consultancy services which
of the following is correct if “Two bid” system
has been adopted ?

(1)  Financial bid should be opened first
(2 Both the Financial and Technical bids
should be opened together
\(3= Technical bid should be opened first
(4)  Technical bid of only the lowest financial
bidder should be opened

1038. Which of the following is not defined as “Goods”
as per GFR's 7
(1) Intangible products
&  Books for library
(3) Livestock
4) Vehicles

104. Which of the following is nat correct with
regard to the complaints committee for
prohibition of sexual harassment of working
women ?

(1)  Itshould be headed by a woman

2  Notless than half of its members should
i be women
(@  Itshouldinvolve a third party, €. NGO
etc. who is familiar with the issue of
sexual harassment.

Jﬁv\ It should make a monthly report to the
‘ Gavernment department concerned of the

complaints and action takenonit.

18A1
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wfed
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@ fadig @ w9 fae ey @
=fed

@ A fas el @ielt S e

@ FHaw =Aaw fada faet #1 aFAret 92
drert afed

103. Ty fasg frammet & fwha f= & 9 5
Yoy wftfom @ fa T ?

() e Tl

(@ I b T
@ W

() A

104. ‘' TN Aigensii & 99 Sefe @ oyt Y
waifya foma afvfa Fan A s wd A& &7
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105. Which i 1ACP? 105 1 § 1 MACP % it 3 wét 7 €7 111 Medical examination should be done at the time |, faferedta a1 Fraf ¥ w0 o w5 30 F
2 chis not correct about M of appointment by : .
. Jored inadvance () T fag wi i # afm 9 A S i L R
(1)  The casesare to be conside! ar ) : )] Medical Board in the case of Gazetted
in January and in July &.mmn«uwm ) ﬁﬂm&ﬁﬂ.ﬂﬂﬂ_ﬂw_ Govt. servant. o)) Tdtea =rs g afg aerafa arfirr B
@  Itdoes not entail any designatio™ rure @ T g T e S (2)~Civil Surgeon/District Medical Officer o @ Tafam el fafe sfumr s
(9  Itisnotbasedon Emgn&.u._gu struc (3 T fawm w HE ST R & equivalent in the case of non-Gazetteq e At T atfimrd ST RN
St lerckia thepapren d e e e Fa A F ST S Govt, servant
W The Bench markis good” uptothe nnma um e @ Female Civil Surgeon/District Medical (3 wfeen fafaa vt foren fafemn srfimrd
Pay of T 7,600 (Level 12 in pay matrix)- Mw i ﬁm (e A 3 F Officerin the case of female Govt. servant e Higen wHuERt F A
) 7,600 . . )
;. fr— dical Examination is not ived i AT fraf
106, Howmuch advance of spproved CGHS vunrnwm 12) T 7 T (good) 1 . wmw nwwo»nrﬂoun is not m“ﬂ”ﬁmﬂw ” Mﬂﬁ Ed @.ﬂ% o B
rates is admissible to Government serV: et
under CS(MA) Rules and CGHS Rules forall | 106. ﬁﬁ:.ﬂ. mm.n_ =Tt 1 e Fa (e 5 ) 6 months.
indoor treatments subject to uﬁmmﬂ._cnm ﬂﬂﬂw_.ﬂﬂwﬂg%.@.ﬂ a1 & e g
conditions 7 i el SeR 3 SrHifcd |OE A TR 112. Whatis the entitlement of a freshly recruited | 112 feeit T P TRl Sl 3 WM S
M 50% @ 5% B Govt. Servant during first 8 years of service ? g2t o s F1 wem F E?
3T 90% W 100% M 50% @ qm_ﬁ o es% Mm,ummaoumra mma_m w.ww.u E% ﬁ () IR s A S STEE W e ad
3 90% 4) 1009 an anywhere in India in a blo
i i ut grant of © ; of 4 years. et ot =g emmt W oyra § e o
107. Which one is not correct about gr: 107. Forr & = w309 97 ¥ for W@t TER?
increment ? ) a e — (2) Three concessions to anywhere in India AR
(1)  Itshould be drawn as a matter of course. O ¥ T A W and 4th to Home Town in a block of 2 =R % = ae eEEl wouE W
a\ﬁuw\ It should be drawn as a matter of right. 2 ﬁﬂﬂﬂﬂ&%ﬂﬂgﬁﬂ.@gﬂ% 4 years. i&gﬂdggﬂ ﬂ.ﬂ.ﬂ.ﬂdﬂdﬂﬂﬂ_
(3) It can be withheld by following the 2l ' @~\ Three concessions to Home Town and 4th - Fd
required procedure. @ o fafw wiRa 379 W AT S Gehal to anywhere in India in a block of 4 years, @ =R k T Ll
@)  Ifitis withheld, the period is required to ) @ First4 concessions to Home Town and < v @y w6 ot
be mentioned. @  afzE i i & 9 soE ety Frto 10%...% no_wnmmwmoam«onnwaraaﬁuu&w @ e 94 ¥ yuH 91 IFEl W TR a9
in a block of 8 years. o "
108, Ifapenalty of withholding of the next increment ! T SR ST S T ¥ e o
is imposed for a period of three years, how many | 108, afy @ 99 3 fTd et 37 g T 5t wiE
i ts will be wit d? e i wftfeafy 3 et srEER
M”._n.mEoH e .MS two 1 S B A e ? 113. Under which of the following circumstances us. A d m__..m H i
(3 three ) four 1 T @ 3 rejection of all bids is not justified ? A AT TE € 2
@ @ 4 =R (1)  None of the technical proposals meets the () = i T wEE gited adet grga
e The combined total period of medical attendance | 109. Wit Faftheam/fos gr fafpem = waw peclisical guralibying scure desfres. T T T
by authorised medical attendant/specialist waEty fe § | o des 5 T &2 @ There is Iack of effective competition (2 wwE wfoyl & aE R
should in all jointly be limited to : @ 30w 10 feaw ) (3 None of the bids is substantially .
AT 30Days (2  10Days @ responsive to the requirements @ i fafere e srfeae 77
3 5Days “@ m..cwu«m (€)] 6 fgaw 4 3 _Nmﬁ ﬁ&\ Minimum three quotations were not @ A EiEd ﬂ#@ﬂqgﬂ. =l Wm .W I
110, FHAFM T T E? received .
110. Which one of the following is not correct ? () EER FE =y Fatrafa & f v ' 114, T ¥ 7 fai sfes s & an | oh
m %m@qw.nwmwm w”“.._w”“nwm%m on duty on the T g ' 114. Which one of the following is not correct about THE?
3 & . special casual 1 ?
(20  Govt. servant has to be on duty during @ ﬁnﬂ&mw.@m_ﬂm@mnﬂﬂ AR ) It . b mma& to 30 days in an year. 1 TR I A 30 A 7 e w1
the forenoon of the day of superannuation. P T B GAILYS Biven Ty X rtin (2) I =R Wel & o foe s €1
; (3 FER FHER ; (2  Itcanbe given for international sporting
(3  Govt. servant can be on 1/2 day C/L Hafrfa ¥ o7 o o : & et
during first halfof the day of Retirement. 3 T 1 P st o T i vent. . @) TEEiEp w7 e ww
! It cannot be given for cultural activities. i § oo
'V&\ A Govt servant can be on EOL on that (1) T = . g ., . ) TwILH T & o ferg oft firm
diiy. et fafa 31 simmm (9 It can be given for participation in 3
. STTE R T B tonal love s
national level sports.
J D-22 18A1 18A1 D-23
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115. Which of the following if oceur in rel2tiot 10
any act of sexual harassment may 82

sexual harassment : )

(8 Promise of preferential treatment In
employment. )

() Threat of detrimental treatment in
employment.

() Threat about her present or future
employment status.

(@  humiliating rreatment likely to affect her
health or safety.

Code:

(1) (a),(b)and (c)
2) (a),(b)ard (d)
3  (®).(and(d

SO (), (), () and (@)

116. On which of the following leaves, a Govt.
Servant cannot take voluntary retirement ?

() EL

) HPL

() Commuted Leave
\41) Casual Leave

117. Voluntary Retirement is the right of 2 Govt.
servant if the Govt. servant :

(1) makes an application after rendering
20 years of service.

(2)  requests to Govt. tojoin another post.

(3)  isundersuspension and inquiry has not
commenced.

/@\_ gives a notice of 3 months after rendering
. 30 vears qualifying service. -

118. What is the admissible amount of fare for a
non-entitled Govt. Official travelling by air in
private airline on LTC ?

(1)  Actual air fare
(2) Notadmissible

(3} Restricted to entitled class by rail other
thun Rajdhani/Shatabdi Express

P

115, Frorfatas i & 917 w1 o Hii Afeenst
& gedre T iy R A S
T HFA R
@ e H A SFEER wEaE |
) SR SR SR F T |
© v s o e A e & A
o i |

) YU S SR A SR e
TR Y W F I

-

O (@), E

@ (@ OE@

@ O.E@

@ (a0, M@

116, TR FA T g A g e e

Hatrga e o T ?
() s sEEm

@ I EEw
@  ufafda sEwm

(1)  HTREE FEE
117. @fos Yaiata i whied @ afiEr §

g :

(1) S8 ST 20 9 1 T S UG YA HE
2N

(@ 3 35 gEd Tt d= H W we
F A

@ 9 o frefam F § o S ufen e
il

@ 30 =d % EA F IR 3 T = Ay few
o [

118, T8 a1 Wt wer o g A e w
[EEIRCI P @ﬂﬂﬂwﬁuﬂﬂaﬁﬁq
TR &2
(1) SrEfa war faar
@

3 ﬂﬂ%a&nﬁﬁi%ﬂ.ﬂaﬂﬂwm
A H I A0 i

M LTC-80fares

@ T8 e e - 80 fmn

18A1

119. Which of the following is not Correct 9
No Government servant shall excepy with
the previous sanction of the Qaﬁ__.:u..n:ﬁ
() engage inany trade or businegs

%\ negotiate for any other employmen,
) undertake honorary work of 4 8ocia)
nature
(4) undertake any other employmeny

vel by shared taxi, the entitlement vy,
= M“Mw:ﬁmwm%ma to: uld
(1) one-fourth of the mileage otherwise
admissible
(2 one-third of the mileage otherwise
admissible
/.va\. half the mileage otherwise admissib]e
(4) three-fourth of the mileage otherwise
admissible

121. InInternational travel, an officer drawing pay
in Pay Matrix 13 and below is entitled to ek

of the following classes by Air ?
(1) Firstclass ) Businessclass
(3 Clubclass % Economy class

122. IsLTCadmissible toa Govt. servantson “Study
Leave”?
&) Yes, subject to condition
(2)  Only to the family subject to condition
(®  Notadmissible
(4)  Only to self subject to conditions

@ Amale child of a Government servant is allowed
to receive medical attendance and treatment
In a recognised women'’s hospital till the age

of:
()  Oneyear (2)  Three years
. me._ Five years (4)  Sixyears

124. Which is not true regarding Service Book ?
- Service Book should be maintained in
duplicate.
@  Employees who entered in service before

15t July, 2005 cannot have a copy of
Service Book.

() It has to be updated in January each
year.

W Ifitis lost, a Govt. servant can replace it

119,

120,

121

122,

123,

124,

by payment of Z 50.

18A1

B WML = —rm—— e

e T F FH W EE T 82

i TRl FHE fHar 7T A g Ageta
(1) I SR @ S5EEE 9 0T

@ = T F ol awstd 18 o)
(3) FEarTE AT 7 g S|

(9 e &= T F ol as=y ol o)

T < B 9 FH W AR =9 S EE
& @ T AT Em e

()  FF9 A9 TE-v9 w1 uw-d )

@  FEE I - - T

(3) @99 ATFE HE-5 7 A

() T AT - TS

T A5 13 @ = o 9 afusr v
W i TR A w R At = e 2
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o =, s

@ T N F ER A A

@ FFATE R

() & A = = ¥ o vl ¥ e
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wigen sreme H witeal vd o W w g
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125. Asper General Financial Rules. 201
n the basie

or department should not prepar® wo
suppliers of non-consulting serV1
ST WRITH GT The Tollowing ¢
(1) Websites

27~ Trade Journals
@)  Eligibility conditions formul

Ministry or department

@)  Yellowpages

ated by the

r

126. The Constitutional >Bn=manu.“mh_“u.

introduction of GST in Hu&ma.”.q“u”_e

ive from 16.9.2016. Seclt

Mn”MMMann Act, 2016 allowed the transition

period, for switching over to

for :

() Sixmeonths @

43~ One Year “@

Two years
Five Years

127. If an assesse’s dependent is suffering from
serious disability, an amount of :

" 275,000
(2) 7.5% oftaxable income
3 T1,25,000
(4 560,000

is deductible from the taxable Income a8
Per Finance Act, 2018.

128. A Govt. servant is 24 hours a Govt servant.
Which of the following best explainsit?
%Oa:nnun is misinterpreted. In actual
whole time of the Govt. servant is at the
disposalof Govt.
(2)  There isno sanctity of office timing,
(3)  Govt. may notrequire him to employin
» any manner. .
(4)  Govt.cannot employ him in a post where
he is to get remuneration from the funds
of a body controlled by the Govt.

129. Retirement Gratuity for a Govt. servant who
has completed 8 years of service is
(§)] 10 times of emolumenta
(2) 16timesof emoluments
“ku.v\. 12 times of emoluments

(4)  Halfof emoluments of 8 years of serviee

-2 4
I-
“l

D-26

125. 9= fasia fammae, 2017 & A7a) 9 S
e favmii 1 -wmeiEE das F gonfag
yfd wetsii it g e F 9 forw omuR )

126.

127,

128.

129,

A e ? .
1 d=-wr

(2) =Rt

(3) "™ Syar faum grr Fafrea wean o

@)

el =

WRA H Ty @ ¥ A6 FE v wfaufs
T 16.9.2016 T Yuferan W R T @
iy sxfufam 2016 Fit 4R 19 % 9% 9 @
Far § & yoedt ¥ T ¥ fRe wwa g

?

(¢}]
&)

3t o
el

EHR (2)
T @

fE forsft T 1 anfaa TR s9mar @ ofem &
@ = A QA o arfufram, 2018 & starta feat

T IR HUHT 3 T2t = qehel 2

() 275,000

@ HUHE I F7.6%

(3 T1,25,000

(4 T50,000

Toh GO FHER 24 2 U FHEE E T

FHW I FUTE?

(1) ¥ T4 YRON ¥ 9Td  UF 9N
FHEN &1 WU T GER & amiE

(2) T ST S wef ufiism & €

(3) TR I FEl iR fordt off feafa & wrdf
& @ g §

(9) TR IV FE 1 98 R T T Tt &l
T IGF A TR g Frafa dwen g
BTN

T TR AN e 8 7 st dar gt #t 38

P Aty fegd firertt .

() ft@feEr #5110 T

(@ uftefemEt 16 T

(3 fwferi# 12 TN

@ 8 9 &t ¥ar F oY %) wfiwfent

18A1

p @ .r__.r.x_\:\

130. D.A.oncasualleave while on tour is admissible

at the rate of :
a7 NoDA. @ 3%
3 70% )  100%

131. What is the limit upto which a group A
Government servant can receive gift subject
to fulfilment of laid down conditions op such
occasions as weddings etc. when the makin
of gift is in conformity with the uqmquan
social practice, without reporting to :..M

Government ?
sk
(1) 10,000 (2) T15,000
. %\ 725,000 4 35000
r

132. Which of the following is inadmissible i
transfers for short periods not exceeding 180
Days ?
(1)  Fare from Headquarter to the station of
short period transfer

(20 D.A.forfirst 180 days
r\@\ Joining Time

(4)  Actualjourney time

133. Which one of the following is not correct about
Joining time ? ’
(1) Unspentperiodis credited in EL account

va\\. For predeparture formalities for going

abroad, no transit time is allowed
N0 transit time 1s allow

3) .rmmﬁw is not required to be availed for
Jjourney by travelling within intervening
holidays

(4)  Joining time can be combined with Leave

134. Against which of the following orders, a
Government Servant is not permitted to prefer
anappeal ?

(1) anorderof suspension

2) norder enhancing any penalty
F\E\Mﬂ order of transfer

(9 Reversion to alower post while officiating

in a higher post, otherwise than as a
penalty

18A1

130.

131

132

133.

134.

1

& T AHRIF FEFR & T 4 & v

AT ﬁm.w.ﬂ z:
) v @ 30%
3 70% (€Y) 100%
=, afz frga v T @

£ W 99 ETd W waie SRR o A &
wafea W O F oqEY &, a0 s =

TATE STEN T FT FAHATE?

(1) 10,000 @ 15,000

(3 ¥25,000 (4) 735,000

180 T3 =1 %91 3=y F seqsEdt wHT w

o 3 7 g 62

(1) TR A AEE S VI T
=

2 W™ 180 fa =1 ef= wan

3) FHETET Hafy

) aTEataE FETRT sEfy

=1 4 & Frioew o F AR e d g B2

) T I g M S e ¥ g3
EiG1Ed

@ e - e i e W
WA TR T foeran

(3) E O FI T T & Al 9 s %
o & 2 2

@) TR FT gE T W SIS W gha )

=1 4 4 form s v o e wE e

& L GF?

() fre=E & smaw

@ fodiwfe 4 i =0 90 sy m

(3) T F ARG

@ T ey WS Wi & w9 A 7w 8 g
&aﬂﬂﬁﬂgﬁﬁﬂ@mﬂﬂ&mp
I it Fer e W whrafda e 3
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Allow ance is

135. At which rate Travelling MUF e,y

admissible to a kidney donor ¥
Government Servant?
‘\E\, T.A. at the rates applicable tothe donor

Government servant

(2) T.A.attherates applicable to the donee
Government servant

(3) Higherof(1)and (2)

4) Lowest(l)and(2)

136. ich of the following is not_included in
Category-1 of the list of %mﬁ of
gratuity in case no nomination submitted ?

&1y Widowed daughter 42¥* Father

(3 Son (4) Daughter
@ A serving Government Servant can act as
| > Defence %mﬁﬂwwnﬁ a mavimum of how many
vﬂ Mwmwmm Mﬁ a time ? @\ i -\ .
s ¥ P vl

1388. The NPS is based on the principle of :
(1)  Defined benefit
.\&\. Defined contribution

m (3 The benefit may depend on the market
| conditions of investment ~
L (4)  Thebenefit asaccrued on the investment
| as opted by a Govt servant.

139, Which of the following is_not correct 7
No Government servant shall except with
previous sanction of the prescribed authority :
(1) acquire any immovable property outside

India

(2) dispose of any immovable property
outside India

% acquire any movable property

(4) _sell any immovable property to any

foreigner

140, Which of the following has been excluded from
the definition of goods and service 7
7" Supply of Electricity
(2) Transportation Facility
(3) SaleofLand

EIEIR
@ ()W EIATER
@ (T @F I

136, T -1 7 feree S sy 5 e A
uq?ﬂj%m..dﬂﬁgw%&»imuﬂﬂq
A fward 2

_ar” i @ f

@3 = @ T

137. %ﬁﬂ&ﬂﬁ&%wﬂmwgﬁﬁnmﬂw
S 3 i arfyee 3 w0 & AN §2

o) m§\

® 5 ® & 3
188, T der fen fre W e #

( i @

@ oy stwEE

@ o e Fee s ¥
@ T w3 <t fraw fawe fean &
I ANE

130, FrAddsRoa@ @ 2
¥ ) fema P S e
% Freffefaa =& <am -
() 299 aET I T S e S
@  F e s= gt w4 fawe T )
(3) = Hufa s T8 S|
W Tl fordeht i or wafs R A=

140, =% UE FarE F ufoae | Fretetea § 9 =0

(4)  Telephone Services

D-28

AEfHaE?

(1) fasrel # smfd
@ ufEEs gfawm
@ e

@ gom e

18A1

143, Whichof the following is not correct in relation

141. Which ofthe _.O:ceqmﬁm isnot mmn.n:.mm:u
Transfer T.A. Rules ?

-%V\Wonn mileage for journey Performeq by
@

ﬁm as per

Road
T.A. for self
(3  Costof transportation of personga]
from residence atold mBmoBSHmMMnnnm
at new station e

@) _, T.A.forfamily member added
-\\. nw-.mom_u.mbmmmw after the

142. The performance security in case of contracts
for supply of goods can not be furnished i which

of the following form ?
(1)  AccountPayee Demand Draft
(2" Cash

3) FDR from a Commercial Bank

(40 Bank Guarantee from a Commereial
Bank

to, “Electronic Reverse Ruction” ?

(1)  Processing entity should have detailed
description of the subject matter of the

procurement
%\_ Total value of procurement should not
exceed T10 lakh -

. 3 Criteria for selection are quantifiable and
can be expressed in monetary units
(4)  Effective competition through existing
competitive market is ensured

144. An employee in receipt of a salary of
¥20,000 p.m. and allowances ofZ 10,000 p.m.
. w%wcmmlqumzﬂmm entertainment allowance o
p.m. What amount will be exempt from
* + Tncome Tax under mwnmwgmunbcb%munmm
() T2000 @ T3000

- @ T4000 7 25000 IS

Hn.u.r.. eﬂumﬂ is the limit for purchase of goods without
inviting quotations as per General Financial
Rules ?

\ (7 ¥ 25,000 in each case .
(2)  ¥2,50,000 in each case
(3)  ¥50,000in each case
(4)  No limit prescribed but reasons to be

142

143.

144.

145.

recorded

18A1

00
Loo0 X

141, e 2T, FraaEe & wEn i w6

A TE 2

Bl s et ety

(2 TEsfamdg

(3) T A W AEE 9 TH R W HEE
T AfFa Herdw 9iEes =4

(4) IEREF W e T A 5 wmEmm
Fifffasmg®

TEgE W A & 3% & Hay F fromea vy
= ¥ | 758 Y51 780 <t S gt ?

() = G Hn T

@ =z

(3) AEUNGH 4% 9 GEY J9 &@E

() EEES 5% € g% mE

“ P e e gaw e A R

T HEAE?
—~—

() TR F 9w gl & fava F faw
foa =g

2 Y =1 59 ge 210 oE A v T
T e

(3) A HI9EVS WHMTE 814 wifed aw v
0 1 fe@n s A4 g =t

@) 9o wfendt 9en F wmEn @ g
whireyt gffrem w1 w1 =i

T FHAN o 999 7 20,000 vfF W ¥ Tgr

miEF 99 T 10,000  F T 6000 9 WIE T

AR I W=F fFm T E ) 3w vm § A feaw

Y qF T ?
(1 %2000 @  T3000
(3  T4000 () 25000

A fora Framrast & san o @it amfm

R agF ks Famd?

(1) ¥ 25,000 T9F A0t §

@  72,50,000 ¥ WA §

(3) ¥ 50,000 TS A H

@ = " fafen T W Fr @ aficma
EYEF
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